
Practice Questions Ch 16: updated 6/25/25 
 
Matching 1-5 
 
1. Ovulation      A. Day 28 
2. Menses      B. Days 1-5 
3. Thickening of the endometrium   C. Day 14 
4. When corpus luteum dies    D. Days 15-28 
5. When egg and follicle are maturing in ovary  E. Days 1-13 
 
6. Hormonal birth control works by 
 A. inhibiting GnRH.     D. preventing ovulation. 
 B. inhibiting pituitary LH and FSH.   E. preventing egg maturation 
 C. thickening cervical mucus.   F. All of these. 
 
7. Which form of hormonal birth control involves implantation of hormone-containing capsules under the skin, 
which provide contraceptive protection for 3 years? 
 A. Twirla.  D. Nexplanon.  G. Nuvaring. 
 B. ParaGard. E. Mirena  H. Vasalgel. 
 C. Seasonale. F. RU486.  I. Depo Provera.   
     
8. Which form of hormonal birth control involves placement of a patch, containing an estrogen, on the body for 
transdermal absorption, and a new patch is put on each week? 
 A. Twirla.  D. Nexplanon.  G. Nuvaring. 
 B. ParaGard. E. Mirena  H. Vasalgel. 
 C. Seasonale. F. RU486.  I. Depo Provera.  
 
9. Which form of hormonal birth control involves placement of a ring containing an estrogen over the cervix, for 3 – 
4 weeks? 
 A. Twirla.  D. Nexplanon.  G. Nuvaring. 
 B. ParaGard. E. Mirena  H. Vasalgel. 
 C. Seasonale. F. RU486.  I. Depo Provera.  
 
10. Which form of hormonal birth control involves placement of T-shaped device, containing a progesterone, 
within the uterus which can prevent pregnancy for 3 – 7 years? 
 A. Twirla.  D. Nexplanon.  G. Nuvaring. 
 B. ParaGard. E. Mirena  H. Vasalgel. 
 C. Seasonale. F. RU486.  I. Depo Provera.  
 
11. Which form of hormonal birth control involves placement of  copper T-shaped device (no hormone), within the 
uterus which can prevent pregnancy for 12 years? 
 A. Twirla.  D. Nexplanon.  G. Nuvaring. 
 B. ParaGard. E. Mirena  H. Vasalgel. 
 C. Seasonale. F. RU486.  I. Depo Provera.  
 
 



12. Which form of hormonal birth control involves an injection containing a progesterone, which is done every 3 
months? 
 A. Twirla.  D. Nexplanon.  G. Nuvaring. 
 B. ParaGard. E. Mirena  H. Vasalgel. 
 C. Seasonale. F. RU486.  I. Depo Provera.  
 
13. Which form of hormonal-free birth control involves an injection of a gel, which blocks sperm transport in the 
vas deferens of men? 
 A. Twirla.  D. Nexplanon.  G. Nuvaring. 
 B. ParaGard. E. Mirena  H. Vasalgel. 
 C. Seasonale. F. RU486.  I. Depo Provera.  
 
14. Which of the following, containing mifepristone, will cause an abortion by blocking progesterone receptors in 
the uterus? 
 A. Twirla.  D. Nexplanon.  G. Nuvaring. 
 B. ParaGard. E. Mirena  H. Vasalgel. 
 C. Seasonale. F. RU486.  I. Depo Provera.  
 
15. Which of the following is an emergency over-the-counter contraception, containing levonorgestrel, which 
inhibits ovulation after unprotected sex?  
 A. Mirena IUD B. Paragard IUD  C. RU486 D. Plan B E. Ella 
 
16. Which STD is bacterial and is the most commonly reported STD in the US, and it frequently causes no 
symptoms, and is known to decrease fertility in women by causing scar tissue within the reproductive tract? 
 A. Syphilis  B. HIV  C. Chlamydia  D. Gonorrhea  E. Herpes 
 
17. Which STD is viral, has 40 or more strains, is present in over 50% of all reproductively active people, and 
causes formation of papules and can cause cancer?  
 A. Herpes  B. HPV  C. HIV  D. Syphilis      E. Trichomoniasis F. Gonorrhea 
 
18. Which STD is bacterial, and can cause formation of chancres and gummas? 
 A. Herpes  B. HPV  C. HIV  D. Syphilis      E. Trichomoniasis F. Gonorrhea 
 
19. Which STD is fungal and caused by Tenia cruris?  
 A. Herpes  B. Yeast infections C. Trichomoniasis    D. Jock itch  E. Pubic lice 
 
20. Which STD is caused by a protozoan parasite? 
 A. Herpes B. Yeast infections C. Trichomoniasis    D. Jock itch  E. Pubic lice 
 
 
 
 
 
 
 
 
 
 
 
 



Ch 15. Answers: 
1. C 
2. B 
3. D 
4. A 
5. E 
6. F 
7. D 
8. A 
9. G 
10. E 
11. B 
12. I 
13. H 
14. F 
15. D 
16. C 
17. B 
18. D 
19. D 
20. C 
 

How did you do?  
 
 


